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2112 22 11 2212 -11 211 211 14
(n) (gamma) (e-) (p) (e+) (pi+) (pi-) (nu_mu)
72.17% 23.76% 1.49% 0.99% 0.80% 0.50% 0.20% 0.10%



1200

1000

800

600

400

200

userflags

(0x00000000)
100.00%




900

800

700

600

500

400

300

200

100

ekin [MeV] (weighted)

I I I I I
200 400 600 800 1000
min=0.00139345, max=9724.96, mean=52.165, rms=548.838, integral=1006




50 ! ! x [cm] (W!eighted)

-20 -10 0 10 20
mMin=-60.0882, max=65.8944, mean=-0.248153, rms=12.0726, integral=1006



70 ! ! y [cm!] (weighted)

S ——— e R -

S0f E— . — E— -

—-20 -10 0 10 20
min=-61.3354, max=57.6935, mean=2.54021, rms=12.7636, integral=1006



1200 ! z [cm] (erighted)

1000 ............................. o ............................. |
800 ........................................................... ............................. |
600 ........................................................... ............................. |
4oo ........................................................... ............................. |

200 e .

0 I I
19.0 19.5 20.0 20.5 21.0
min=20, max=20, mean=20, rms=0, integral=1006



-0.5
min=-0.994109, max=0.995773, mean=0.0216263, rms=0.487791, integral=1006

ux (weighted)

16 T !
74 O -
12|t L N -

0.0

0.5



-0.5
min=-0.994904, max=0.979886, mean=-0.00868233, rms=0.47584, integral=1006

uy (weighted)

0.0

14 T !
b
of e b

0.5




18 T T !
] e
D e I

T e 1

0.3 0.4 0.5 0.6 0.7 0.8 0.9
min=-0.734438, max=0.999994, mean=0.690676, rms=0.240955, integral=1006



time [ms] (weighted)

350 .
o
e .
o
o

1Y SR P — I—— RS- -

sof S T B -

Ll | Ba.m [

: ; .
0.00005 0.00010 0.00015 0.00020 0.00025
min=7.01658e-07, max=0.00166018, mean=5.04828e-05, rms=0.00010785, integral=1006



1200 ! weight (ur?welghted)

1000-~~~_~u~~u_~~_~é ............................. o é .............................
800—~~~~~~~~~~~~~~§ ........................................................... é .............................
600—~~~~~~~~~~~~~~§ ........................................................... é .............................
4oo-~~u_~~_~~~~~_~§ ........................................................... é .............................

200 e

min=1, max=1, mean=1, rms=0, integral=1006
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polx (weighted)

0
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1.0

min=0, max=0, mean=0, rms=0, integral=1006
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poly (weighted)
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min=0, max=0, mean=0, rms=0, integral=1006
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min=0, max=0, mean=0, rms=0, integral=1006



